CHEMISTRY

BIBYJU'S

POST CLASS NOTES




[ Thermal
Phatolytic

V4t AR ) NG

\/

Electrolyjt
Single displacemerit [ Csae
Double displacemert

e

[Endo‘(hev*mic] [ Exdthenmic ]




Chemical Reaclien

e (One on more parlicipaling substances Transform o give
new substances

Involves a chemical change
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BuMmg of magnesium
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—— Effects of Chemical Reaction =——

Chemical reactions involve one on more of the following:

1, Chomge in Coloun

UL

Qusfng of iron Leaves in fall

2 Chomge in Odour

o0

Cooked food Spoiled fruit

3 Chomge in Staite

Formation of

S Evolution of gas

®

Mixing patassium iodide and lead nitrate | Decomposition of lead nitwate on heating

4, Hedt Tv‘omsfev‘

Endathermic: | Sl Exdthepmic:
Cookmg o{ food  Absorption of hedt Combustion Evolution of heat




Chemical Equation

_____________________________________________________________

S £esis . ,
'S .. Burning of magnesium in oxygen is v‘epv‘esen‘[eol as:

Magnesium + Oxygen — Magnesium oxide (Word equation)
Mg + 0, — My0 (Skeleton equation)
2. Phatosypithesis is nepreserited as:
Carbon dioxide + Water — Glucose + Oxggen (Wond equation)
(0, + H0 — CH.0.+0, (Skeleton equation) |

Balanced Chemical Equation

Total number of dtoms of each  Total number of dtoms of each
elemerit onthe reactart side ~ elemerit onthe product side
Skeletal Equation Balanced Equation
Mg + 0, — My0 Mg+ 0, — 2Mq0

€0, + HO0 — CH,0,+0, 600, + 6H0 — CH.0,+ 60,
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light
600, (o) + 6HO (0——= CH.0, (ag) + 60, (g)

2. Formation of Ammonia

y(g)+ 3H, () DEL20E o (o

Fe calalyst
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——— lypes of Chemical Reactions =———

1. Combination Reaction

Two or more reactarits give single product

D - — I[N

Mg (s) + 0, () —> Mg0 ()

2. DecomposTUon Reaction

Sing(e reaclant breaks down irto Two or more products

He[?t/ Light/
lectricity
—n-0

Thermal
(in pv*esejlvcl:e of hedt) 2Pb(NO ), (S) QP b0 (s) + 4N0, (g) + 0, (g)

Light

Phatolyjtic gt

(in pv*es:nzg of light) gl (s) 2Ag (s) + Cly(g)
Electricity

Electrolytic
(in pv‘esenecev;{%lectv‘icftg) 2Hzo e 2H2 (g) % 02 (9)

3 Single olisplacemen‘( reaction

An elemert displaces andther elemert from its compound

-l — I3 - 3

Znls) + CuS0,(aq) ———— Zn30,(aq) + Culs)




4. Double displacemerit reaction

Exchange of ions between the reacting compounds

+ (D — ENED + B

2Kl (aq) + Pb(NO,),(ag) — ~ 2KNO, (aq) + Pbl,(s)

5. Redox (Reduction-Oxidation) reaction

Single reactauit breaks down irito Two or more products

Oxidation:

Reduction:

Loss of 0xygen, or
gain of hydrogen

Gain of 0Xygen, on
loss of hydrogen

<

Alwags occur simultaneously

One reactanit undergoes reduction while, the dther undergoes oxidaion

_____________________________________________________________

Loss of oxygen: Reduction

! ' Zn0 is neduced
20 + ? Zns (|:0 C is oxidised
Gain of oxygen: Oxidation
Loss of oxygen: Reduction
Mn0, is reduced

I I
Mn0, + 4HCIl MnCl, + 2H,0 + C|l2 HClis oxidised
Loss of hydrogen: Oxidation

_______________________________________________________________________
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o Formation of new substance
e Involves chemical change

h

and chemical formulae
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Short-hand represeritation of

chemical reactions using symbols @
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F Chomge in colouv*
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\2, Chomge in odoun

(3 Chomge in stale B

[4. Hedt transfer @

(Double olisplacementj + [ —N) + / \

( Redox

One reactarit undergoes neduction
(addition of H on removal of 0) while
The dther undengoes oxidation (addition
of O or removal of H)
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